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1. Numpy

& Ol Hol|lN CIR= LHE

Numpyzt
A4k

Xt
Matrix

24
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% AZ2 - Python €8H

Numpy 2
e« COIOIZ 7|Eto 2 |8 = B2 AL 50| & &7t 0f$ wart

o CHAE B (ndarray)2 HE|SHA M2lg 5= ALF A @i = Tto|M 2f0| = 2| 2|Ct.

X array vs list
e array: &2 M2 2 GO|HE WEA XMeloti, RE Ha= €2 A2 S 7HECL

o list: H=7H 02 22|, fast 242 L E Atzg s 7/HE 5 UG

ndarray

¢ N-dimensional Array

o CHtE BiQYS X|2BCY

o MZE CHE EfY2| HO[HE EE % BlL
o U =R A8 ST} HaC)

o HiY ZHO| At GIAtO] Zh5BILE
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HIOlE] Bt SR/

1.

o

w

int(8bit, 16bit, 32bit, 64bit) i1, i2, i4, i8

uint(8bit, 16bit, 32bit, 64bit) ul, u2, u4, u8

257} gk,
H|E4 Bt 37|12 74K & Bagoldt,
TS 4 Qe 2ol 8910~ 201

. float(16bit, 32bit, 64bit, 128bit) f2, f4, {8, f16

F27F UL

HEs 23 37| /M= Z+EO0[L}

A=
—I_cc>:>l

. unicode

178 40| 2A+E unicode

bool

True, False

12



e dtype: AEd =0

e astype: At2d HZF

import numpy as np

data = [[1: 2, 3]; [4: 5, 6]; [7: 8, 9]]

a = np.array(data)
a

Out[-]

array([[1, 2, 3],
[4, 5, 6],
[7, 8, 911)

a.dtype

Out[-]
dtype('int32")

Python v

Python

Python v

Python v

Python v

13



= a.astype(np.float32)

a
a

Out[-]
array([[1., 2., 3.],
[4'1 5') 6']1
[7., 8., 9.]1], dtype=float32)

afe][1]

Out[-]
2.0

ale]

Out|[-]
array([1., 2., 3.], dtype=float32)

Python v

Python v

Python v

Python v

Python v

Python v
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* np.arange(start, stop, step) : stepOfl 2t S7t5t= 5=
* reshape: DFHSO{ &I HIZE O G|O|HE =2 7HX|

np.arange(1l, 10, 2) # (start, stop, step)

out[-]
array([1, 3, 5, 7, 9])

np.arange(1l, 1@).reshape(3, 3)

Out[-]

array([[1, 2, 31,
[4, 5, 6],
[7, 8, 91D

np.arange(1, 13).reshape(3, 2, 2)

Qut[-]
array([[[ 1, 2],
[ 3, 411,

[[ 5 6l
[7, 8]l

[[ 9 18],
[11, 12]1])

=

Python v

Python v

Python v

Python v

Python v

Python v
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® nan
o XAEHEO0| FloatdO|E & Integert M= 2F7F Lot

o HiEOIM Qe B2 QR USR] @A B1k¢E0] NaNO| &I T,

np.nan * 10

Out|[-]
nan

al@][1] = np.nan
a

Out[-]
array([[ 1., nan, 3.1,
[ 4., 5., 6.],
[ 7., 8., 9.]], dtype=float32)

a = np.arange(1, 10).reshape(3, 3)
a

Qut[-]

array([[1, 2, 3],
[4, 5, 6],
[7, 8, 911)

Python v

Python v

Python v

Python v

Python v

Python v
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a[@][1] = np.nan # integerliAE= nan2 AIE & == giLI.

Python v
Out[-]
ValueError Traceback (most recent call last)
<ipython-input-15-18bef5bd968c> in <module>
----> 1 a[@][1] = np.nan
ValueError: cannot convert float NaN to integer
Python v
a = np.linspace(1l, 10, 20) # (start, stop, num)
a
Python v
Qut[-]
array([ 1. , 1.47368421, 1.94736842, 2.42105263, 2.89473684,
3.36842105, 3.84210526, 4.31578947, 4.78947368, 5.26315789,
5.73684211, 6.21052632, 6.68421053, 7.15789474, 7.63157895,
8.10526316, 8.57894737, 9.05263158, 9.52631579, 10. 1
Python v

17



e
o HIEES AMMEOHA| BOtE, BBl 2 & HA
o MY Ui A& AF8oto ALt 7k ottt

data = np.arange(1, 10).reshape(3, 3)
data

Out[-]

array([[1, 2, 3],
[4, 5, 6],
[7, 8, 91D

data + data

Qut[-]

array([[ 2, 4, 6],
[ 8, 10, 12],
[14, 16, 18]])

[1, 2, 3] + [4, 5, 6] # cIAEJ|2| CiotEH HZECLH.

Out[-]
[1, 2, 3, 4, 5, 6]

Python v

Python v

Python v

Python v

Python v

Python v
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data - data

Out[-]

array([[e, @, @],
[e, e, e],
[e, e, e]])

data * data

Out[-]

array([[ 1, 4, 9],
[16, 25, 36],
[49, 64, 81]1])

data / data

Out[-]

array([[1., 1., 1.7,
[1., 1., 1.1,
[1., 1., 1.1])

Python v

Python v

Python v

Python v

Python v

Python v
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np.dot(data, data)

Out[-]

array([[ 36, 36, 42],
[ 66, 81, 96],
[102, 126, 150]])

data@data

Out[-]

array([[ 3@, 36, 42],
[ 66, 81, 96],
[102, 126, 150]])

Python v

Python v

Python v

Python
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PN

| ==

o 0K : Scalar (BFL}2| B O|E ZtS 20t ERSI= A)
o 11Xt : Vector (xAH=2| HIE (1D array))
o 2K : Matrix (ZAHE 2| 2D array (rows: &, columns:

e 3Xt2 0|4 : Tensor (=A=2| CHAHR HY &)

# oxt&

a = np.array(1)
print(a)
print(a.shape)
print(a.ndim)

out[-]

1

0

o

# 1XHE

a = np.array([1])
print(a)

print(a.shape)
print(a.ndim)

Out[-]
[1]
(1,)

o]
=

)

Python v

Python v

Python v

Python v
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# 1AH3A

a = np.array([1, 2, 3, 4, 5])
print(a)

print(a.shape)

print(a.ndim)

Out([-]
[12345]
(5,)

1

# 2X+3

a = np.array([[1, 2, 3], [4, 5, 6]])
print(a)

print(a.shape)

print(a.ndim)

Out([-]
[[12 3]
[456]]
(2, 3)

2

Python v

Python v

Python v

Python v
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2% %%2 - Python 2€8H

# 2K+

a = np.array([[1]])
print(a)
print(a.shape)
print(a.ndim)

Python v

Qut[-]
[[11]
(1, 1)

Python v

# 3Rt

a = np.array([[[1, 2], [3, 4], [5, 611, [[7, 8], [9, 1e], [11, 12]]])
print(a)

print(a.shape)

print(a.ndim)

Python v

Qut[-]
[[[1 2]
[ 3 4]

[ 5 6]]
[[ 7 8]

[ 9 180]

[11 12]]]

(2, 3, 2)

3
Python v
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matrix ¢

zeros: 092 ZE7|5tE HIE 4 d

o
ones : 12 7|z} = H{E M4

eye : LA S| RIATF R & 10[ 1

empty : 27|} SHA| @40 B
full : X|g et =X 2 7|5t

OF AH A4
=L oo,

LIHA| A= 02 SAHLEE (H2AE)

7I1EN HE22H HEEA A= 4= LEHH

a = np.arange(12).reshape(2,3,2)
a
Python v
Out[-]
array([[[ 8, 1],
[ 2, 3],
[ 4, 511,
[re 71,
[ 8 91,
[1e, 11]]1])
Python v
b = np.ones(12)
b
Python v
Qut[-]
array([1., 1., 1., 1., 1., 1., 1., 1., 1., 1., 1., 1.])
Python v

24



2% %%2 - Python 2€8H

b = np.ones(12).reshape(2, 3, 2)

b
Python v
Out|[-]
array([[[1., 1.],
[1., 1.1,
(1., 1.11,
[r1., 1.1,
[1., 1.1,
[1., 1.11D)
Python v
¢ = np.zeros(12).reshape(2, 3, 2)
C
Python v
Out[-]
array([[[6., ©.],
[6., o.],
(6., o.11,
[[e., 0.],
[6., o.],
[e., 8.111)
Python v

25



d = np.eye(3)

d
Python v
Out|[-]
array([[1., ©., ©.],
[9., 1., e-])
[e., 8., 1.]1])
Python v
e = np.zeros([3, 4])
e
Python v
Qut[-]
array([[@., ©., ©., 0.1,
[0., 0., 0., 0.],
[e., 8., 0., 0.]])
Python v
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®
@

Out[-]

array([[[©.
[e.
[e.
[0.

[[e.
[o.
[o.
[o.

[[e.
(0.
lo.
lo.

O ®© ® O o ® ® ©

00 ®

= np.zeros([3, 4, 2])

.1s
.1s
-1s
11,

-1
-1
-1
-11,

1,
1,
-1,
11D

f = np.empty([2, 3])

.F

Out[-]

array([[2.12199579%e-314, 6.36598737e-314, 1.06099790e-313],
[1.485397085e-313, 1.90979621e-313, 2.33419537e-313]])

Python v

Python v

Python v

Python v
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g = np.full((3, 4), 1000)

g
Python v
Out[-]
array([[1000, 1000, 1000, 1000],
[1000, 1000, 1000, 1000],
[1000, 1000, 1000, 1000]])
Python v
h = np.linspace(2, 18, 6)
Python v
Out[-]
array([ 2. , 3.6, 5.2, 6.8, 8.4, 10. ])
Python v

28



JRTEE

mean: @& 1ot= &

a = np.arange(10).reshape(2,5)
a

Out[-]
array([[@, 1, 2, 3, 4],
[5, 6, 7, 8, 9]11)

a[e][e] = 108
a

Out[-]
array([[lee, 1, 2, 3, 4],

[ 5 6, 7, 8, 91

Python v

Python v

Python v

Python v
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a0, 1] = 1000
a

Out[-]
array([[ 19, 1ee9, 2,
[ 5, 6, 7, 8,

w
~

np.mean(a)

Out[-]
114.4

np.median(a)

Out[-]
6.5

np.std(a)

Qut[-]
296.5485457728633

4],
911)

Python v

Python v

Python v

Python v

Python v

Python v

Python v

Python v

30



np.var(a)

Out[-]
87941.04

np.sum(a)

Out[-]
1144

sum(a)

Out[-]
array([ 105, 1006,

Out[-]
array([[ 160, 1000,
[ 5, 6,

9,

2,
7,

11,

w
~

13])

4],
o1

Python v

Python v

Python v

Python v

Python v

Python v

Python v

Python v
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np.sum(a, axis=0)

Out[-]
array([ 165, 1ee6, 9, 11, 13])

np.sum(a, axis=1)

Out[-]
array([1169, 35])

np.max(a)

Qut[-]
1000

np.min(a)

Qut[-]

Python v

Python v

Python v

Python v

Python v

Python v

Python v

Python v
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2. Pandas

& O Hol|lM CIR= LHE

Pandas
Series

DataFrame

33



e CIO|HE A If 7H B0 A0]= 2

K O
o B ES YA M2|E = U= g€ MSSts =0/
S:

tol =2 2| L},

import pandas as pd
pd.__version__

pd? # tab 528 MEISE HeiIHX methodE 2 =

= T

Cre

0

Out[-]
1.0.1

Python v

Python v
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Series

o index2t valuesZ O|FO{ %l 1A H{ZO|LCt,

Jhxict

import pandas as pd
import numpy as np

data = np.arange(@, 50, 10)
data

Qut[-]
array([ ©, 10, 20, 30, 40])

a = pd.Series(data, index=['a', 'b"', 'c', 'd', 'e'])

print(a)
Out[-]

a (%]
b 10
c 20
d 30
e 40

dtype: int32

Python v

Python v

Python v

Python v

Python v
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b = pd.Series(data)
b

Out[-]

0 0
1 10
2 20
3 30
4 40

dtype: int32

a['b"]

Out[-]
10

a.loc['b"]

Out[-]
10

a.iloc[1]

Out[-]
10

Python

Python

Python

Python

Python

Python

Python

Python

v

Copy to clipboard ==

<

<
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Python v

Out[-]
a 0
b 10
c 20
d 30
e 40
dtype: int32

Python v

# ot
a + 10
Python v

Out[-]
a 10
b 20
c 30
d 40
e 50
dtype: int32

Python v
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# HHO|
a - 10

Python v

Out[-]
-10
(5]
10
20
30
dtype: int32

" Q n o o

Python v

# =otJ|
a * 10
Python v

Out[-]

%]
100
200
300
400
dtype: int32

T Q n T @

Python v
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#t HEHS
8 wh 2

Python v

1600

Python v

# LIS
a/ b5

Python v

Out[-]
a 0.0
b 2.0
c 4.9
d 6.0
e 8.0
dtype: float64

Python v
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# R

a//5
Python v

Out[-]
a 0
b 2
C 4
d 6
e 8
dtype: int32

Python v

# LHO{ X
a%3

Python v
Out[-]
a 0
b 1
C 2
d (5]
e 1
dtype: int32

Python v

40



Out[-]

a 0
b 10
c 20
d 30
e 40

dtype: int32

a > 15

Out[-]

False

False
True
True

™ QO n T W

True
dtype: bool

ala>15]

Out[-]

c 20

d 30

e 40
dtype: int32

Python v

Python v

Python v

Python v

Python v

Python v
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<
Rl

Kl

e add:H3t7| =

e sub: |:||:|H7|

AL
T

(=13
=

4

fol

SH|

HI

e mul:

4

o0
Al

b

e mod: LIHX| 5}

® max :

e median

a.add(100)

Python v

Out[-]

100
101
102
103
104

int32

dtype:

Python

42



a.sub(100)

Out|[-]

a -100
b -90
[« -80
d -70
e -60

dtype: int32

a.mul(1ee)
Out[-]

a (4]
b 1000
[« 2000
d 3000
e 4000

dtype: int32

a.div(100)

Out[-]

™ O 0o o

dtype: float64d

0.0
0.1
0.2
0.3
0.4

Python v

Python v

Python v

Python v

Python v

Python v
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a.mod(3)

Out| -

]
0
1
2
0
1

™ Q N o W

dtype: int32

a.min()

Qut|[-]

a.max()

OQut|[-]
40

a.sum()

Out|[ -]
100

Python v

Python v

Python v

Python v

Python v

Python v

Python v

Python v
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a.mean()

Out[-]
20.0

a.median()

Out[-]
20.0

a.std()

OQut|[-]
15.8113883008841896

a.var()

Out[-]
250.0

Python v

Python v

Python v

Python v

Python v

Python v

Python v

Python v
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DataFrame
o 2AMR HYFO| B Hof QY AZE 20l Z{0|LCF,

HOfEf F+2=0| L

o JIE 7|

# 502 FH 100A0|, 4x3EEHZE 2HE M4
np.random.randint (56, 160, size=(4, 3))

rawData
rawData

Out[-]

array([[72,
[83,
[55,
[71,

HEO|

L 1 =

61,
99,
71,
71,

98],
911,
89],
7611)

df = pd.DataFrame(rawData,

df

Out[-]

=

72
83
55
71

)
[Foc (oe (i (R

N

02

90
71
71

g+

91
89
76

index=['18t", "28t" ) "1

columns=["'=",

Python v

Python v

Python v

Python v
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#df[@] -> Error

df['="]
Python v
Out|[-]
18t 72
2EL 83
18t 55
2EL 71
Name: =, dtype: int32
Python v
df
Python v
Out[-]
2 g %
18 72 61 98
28 83 99 91
18k 55 71 89
28k 71 71 76
Python v
# 22 FIlotd & ot)|
df["BT'] = round((df['="]+df[ " ]+df['="])/3, 2)
df
Python v
Out[-]
= g + BE
18t 72 61 98 77.00
28k 83 90 91 88.00
18+ 55 71 89 71.67
28 71 71 76 72.67
Python v
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# E('na')
df["na"] =
df

Qut[-]

[

72
83
55
71

=N
[T [T T[T

N

0%

90
71
71

# del &HAl

del df[ 'na']

df

Out[-]

=

72
83
55
71

N

=
I CRT

N

02

90
71
71

1+

98
91
89
76

1

98
91
89
76

gz

77.00
88.00
71.67

72.67

ZJtotd NangtE I

np.nan

na
NaN
NaN
NaN

NaN

Python v

Python v

Python v

Python v
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[y

N

[EEN

T

N

df[df. BT > 75]

df = df.

Out[-]

72
83
55
71

02

61

drop(["&Z"], axis

02

90
71
71

g -
2y o
o o 1

2+



e XIZ2HO| FloatdO|LC}.

o H{ZO|A GME AR QETL EHHSIX| 2 X|TF ZAHEH0| NaNO| =Lt
e A= HO0| NoneO|LCt,

3. AMeghy
e isnull): Z&4 =0 (Z= O|H True, Z50| OfL|™ False)

e notnull(): 254t =0 (2= 0| False, Z250| OFL|H True)
=
|

* inplace = True : drop® 0] EtE

e fillna(Num): 254/2 Num2 & MY =Lt

df = df.astype('floate4') # EI HAH
df

Python v

Out[-]

= s ==
72.9 61.0 98.0
83.0 90.0 91.0
55.0 71.0 89.90
71.0 71.0 76.0

[y

N
e [T [o

N

Python v
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df['="][2] = np.nan
df

Out[-]

= g =

72.9 61.0 98.0
83.0 96.0 91.0
55.0 71.0 NaN
71.0 71.9 76.90

[

=

[ E& [IG

N

df.dropna(axis=0) # inplace=True # axis=0 :

Out[-]

= Z =
18t 72.9 61.0 98.0
28k 83.80 90.0 91.0

28k 71.0 71.0 76.0

df

Out[-]

= = =
72.6 61.0 98.0
83.0 90.0 91.0
55.6 71.6 NaN
71.6 71.0 76.0

[y

[y

[T o

N

Python v

Python v

Python v

Python v

Python v

Python v
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df.dropna(axis=1) # axis=1 :

Out[-]

=

=N
M [T [T o

N

2
72.0
83.8
55.0
71.8

3

61.9
90.0
71.9
71.9

df.fillna('hello")

Out[-]

=

N

[y

N

[C [T [T [T

=
72.0
83.0
55.0
71.0

g2 =+
61.0 98
90.0 21
71.8 hello
71.0 76

Python v

Python v

Python v

Python v
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df.fillna(@) # 022 Tl

=

N

=

=
[C [T [T [

N

=

=
o

=N

rC e o[o

N

3 =
61.0 98.90
90.0 91.0
71.0 0.9

71.0 76.0

df.fillna(df.mean()) # W22 A

A
g e

61.0 98.000000
90.9 91.000000
71.0 88.333333
71.0 76.000000



Multilndex

o IndexS 2EY M 2|2EC| 2|AE HE{ 2

df

Out|[-]

= s =
72.9 61.0 98.0
83.0 90.0 91.0
55.0 71.0 NaN

71.0 71.0 76.9

N BN
[ ro (o [

# index 2} columns= HIE

df.T

Out[-]
1Bk 2Bk 1B

=2 72.0 83.0 55.9 71.8
2 61.0 90.6 71.8 71.8
2~ 98.9 91.6 NaN 76.0

2 g =
72.0 61.0 98.0
83.0 90.0 91.0
55.0 71.0 NaN
71.0 71.0 76.0

N R
[ e g e

N

27t 280| &Lt

Python v

Python v

Python v

Python v

Python v

Python v
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df.index = [['13HW", "18HH", 28T, 2HAC], [TagF, C2Bb, 'agb, 12pH]]
df

Python v
Out|[-]
2 g =%
18t 1Bk 72.0 61.0 98.0
28t 83.0 90.0 91.0
28'H 1BF 55.0 71.0  NaN
28t 71.0 71.0 76.0
Python v
d‘F.COlumnS= [[lﬁo'll’ |go_||, |_A'__a|l],[|2lj lgl, |_A'__|]]
df
Python v
Out|[-]
Ay =cl
= g =
184 18k 72.0 61.0 98.0
28 83.0 90.0 91.0
28'E 18k 55.8 71.8  NaN
28t 71,0 71.0 76.0
Python v
df['HAH]['="]
Python v
Out[-]
18t 1Bt 72.0
28t 83.0
28t 1Bt 55.0
28k 71.0
Name: =, dtype: float64
Python v
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df.iloc[9]

Out[-]
AU = 72.0
=] 61.0
=2l = 98.0
Name: (1&4, 1Bh), dtype: floaté64

df.loc['1SfH "]

Out[-]

=t

-

18t 72.0 61.80 98.0
28t 83.0 90.86 91.0

AN =cl
g

df.loc['18E"'].1loc[ 1B ]

Qut|[-]
o = 72.90
3 61.0
=l = 98.0
Name: 18, dtype: float64

Python v

Python v

Python v

Python v

Python v

Python v
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o

|O]Ef APH 24

dtypes : CIlO| & X2 & =0

df
Qut|[-]
Aol =2l
= & &=
188 1Bk 72.0 61.0 98.0
28t 83.0 90.0 91.0
28t 1Bt 55,8 71.0 NaN
28 71.0 71.0 76.0
df.info()
Qut|[-]

<class 'pandas.core.frame.DataFrame'>

MultiIndex: 4 entries, (184, 1BF) to (284, 28H)
Data columns (total 3 columns):

(9, =) 4 non-null float64

(H2d, &) 4 non-null floaté4

(=cl, =) 3 non-null float64

dtypes: float64(3)

memory usage: 248.0+ bytes

Python v

Python v

Python v

Python v
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df.head()

Qut|[-]

=
[
My
[N

72.0 61.9
83.0 90.9
55.0 71.0
71.0 71.9

N

19

in

=N
[ [T [c

[N
o

df.tail()

Out[-]
A0

[

-
Ja"
I
-

72.0 61.0
83.0 90.90
55.0 71.0
71.0 71.0

N

==

N
1
i
NP
M e o

df.dtypes

Out|[-]

o2 = float64
s float64

=2l = float64

dtype: object

=

98.0
91.0

NaN
76.0

=l

98.0
91.0
NaN

76.0

Python v

Python v

Python v

Python v

Python v

Python v
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df.describe()

Out[-]

count 4

mean 70.
std 11.
min 55.

.000000

50% 71.

75% 74.

.000000

25% 67

max 83

df.isnull() # 2

Out[-]

=
J
in
=

N

o=

N

It

M
N P
T[T [T [

=1

-

250000
528949
000000

500000
750000

False
False
False
False

.000000 4.
.250000
12.
61.
68.
71.

73

75

False
False
False
False

sl
g
000000

120919
000000
500000
000000

.750000
90.

000000

Z 1= bool EEHZ &

=cl

A
™

.000000
88.
11.
76.
83.
91.
94.
98.

333333
239810
000000
500000
000000
500000
000000

Python v

Python v

Python v

Python v
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df.isnull().sum() #

Out[-]

oy = 0
| 2]

=2l = 1

dtype: int64

)
=

Python v

Python v
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zto| 917

e concat: DataFrame?’l|2| Z¢

e axis=0or1:0F2fZ O] HZ /E2= [O|H HZ
7t

* append : OFX| 9} A0f| H|O[E[E =

¥ concatenate : B & 7| 2] 2%t

a = pd.DataFrame(np.arange(1l, 10).reshape(3, 3))
a

Out[-]
012
90123
1456
2789

b = pd.Series(np.arange(10, 40, 10))

Out[-]

(%] 10
1 20
2 30

dtype: int32

Python v

Python v

Python v

Python v
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pd.concat([a, b], axis=1)

Python v
Out[-]
012 o
012316
1456 26
2789 30
Python v
pd.concat([a, b], axis=1, ignore_index=True)
Python v
Out[ -]
012 3
912310
1456 20
27 89 30
Python v
a.append(b, ignore_index=True)
Python v
Out[-]
e 1 2
e 1 2 3
1 4 5 6
2 7 8 9
310 20 30
Python v
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3. Visualization

& O Hol|lM CIR= LHE

Matplotlib
Plotly

o x| 24
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2%%4%2 - Python 28H

Matplotlib

HO|E{ 2 Chart, Plot2 2 A|Z+3}8}| 3= 20| 2 2{2|0|C}.
2003'A 0.1 EA[, 17'A0| =l I{ 7| X|

7Y 0| AFE &= AlZt3t T 7| X|O|CF,

7|2 7+ - 1 8(figure), = (axes)

% matplotlib inline : jupyter notebook LHO| M outputZ 2 O L.

Basic Attributes

alpha: £33

logy : Y& Log scaling

kind : line, bar, barh, kde

subplots : {74 2| plot 1E2[7|

legend : subplot2| #H& X7

xlim, ylim : X532 Y5 2| A (axisZ SHHO| 08 + AUS)
grid : 12| E ®E ¥ (True, False)

title : 12 Z 2| A= X|7E

linewidth : 221 &0

color : M

linestyle : &M, AM 1M 24MH &
marker : Ot X[
markerfacecolor ;: Ot7{ Af
markersize : Ot7 37|

7 2| Attribute : https://matplotlib.org/3.1.1/tutorials/introductory/pyplot.html

64



Line Plot

import numpy as np
import pandas as pd
import matplotlib.pyplot as plt

Python v
%matplotlib inline
Python v
X = [100, 200, 300]
y = [1, 2, 3]
plt.plot(x, y)
Python v
Outl-]
3.00 1
275
250
225
200 1
175 1
150
125 1
100 1

100 125 150 175 200 225 250 275 300

65



#y

value = pd.Series([1, 2, 3], [1e0, 200, 300])
plt.

Outl[-]

X
1]

<
[}

plt

Out[-]

[100, 200, 300]
A, 2, 3]

MK o

plot(value)

3.00 1
275 4
250 1
225 1
200 1
175 1
150 {
125 1
100 1

[100, 200, 300]
[1, 2, 3]
.plot(x, y, ':r') # red

300 {
275 1
250 1
225 1
200 1
175 4
150 1
125 4

100 125 150 175 200 225 250 275 300
F=Fal

100
100 125 150 175 200 225 250 275 300

Python v

Python v
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+

pl

out[-]

X
]

<
Il

plt
plt
plt
plt

Out[-]
Text(0, 0.5, * world")

[160, 200, 360]

[160, 200, 300]

.plot(x, y, color='#ff0000', linewidth=10) # 16%&l=

3.00 1
275 1
250 1
225 1
200 1
175 4
150 1
125 4

100 1

100

.plot(x, y, color="#ff0000', linewidth=10)
.title('hello world', fontsize=20) # M=
.xlabel('hello', fontsize=10) # x= 0|8

.ylabel(' world', fontsize=10) # y=

3.00 1
275 1
250 1
225 1

175 4
150
125 14
100 1

hello world




# OI0IXI M&3SHI|

x = [100, 200, 300]

y = [1, 2, 3]

plt.plot(x, y, color="#ff0000', linewidth=10)
plt.title('hello world', fontsize=20)
plt.xlabel('hello', fontsize=10)

plt.ylabel(' world', fontsize=10)
plt.savefig('sample.png')

hello world

3.00
275
250
225

175

150
125
100 y . : : : y . : :
100 125 150 175 200 225 250 275 300
hello
# SO el = SAI0 2eld|
X = np.linspace(0, 10, 100)
y = np.sin(x)
y_ = np.cos(x)
plt.plot(x, y)
plt.plot(x, y_, '-0') # -o 2¥2= 12|J|
Qut[-]
100
075
050
025
000
-0.25
-0.50
-0.75
-1.00 i
0 2 4 3 8 10

Python v

Python v
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2%A%2 - Python 2€8MH

label

o 7 HO[H QX HA[BF= U

legend
PRS0 HHE =716

* loc:legend ¥X|

wal
rr

T
13

® 'best'0

® ‘'upper right' 1
® 'upper left' 2

* ‘lower left' 3

* ‘lower right' 4
® ‘right'5

® ‘center left' 6

e ‘centerright' 7
* ‘lower center' 8

® 'upper center' 9

'‘center' 10
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X
Il

# Bl FJtotd

np.linspace(®, 10, 100)
np.sin(x)
y_ = np.cos(x)

plt.plot(x, y, label="sin")

plt.plot(x, y , '-o', label="cos')

# 481 QX0 Hell =0
plt.legend(loc=4)

Out[-]

100 1
0.75 1
0.50 1
0.25
0.00 1

—0.50 |
—0.75 1

— sin
- s

Python v
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Scatter Plot

X
Il

plt
plt

# g JcHE=Z x,y F BHes 22| 22

Out[-]

25 ?IAIS LIEFHCE

np.linspace(@, 10, 20)

.scatter(x, y, color="r', alpha=0.5)

= LIEtHHCE.

Python v
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histogram

CAETREE Ja|Z2 LIEL gt o|C}
IO T A S 72 S MZISHK| @0 M 20| S 0|20 LIEHUHCEH (ZX : 97|91
ALS ANREASLZE LF0 ASE &5 U2 LIEHACE

=

= [np.random.randint(1, 7) for i in range(100000) |

Python v

plt.hist(x, bins=11)

plt.show()

Python v

Out[-]

16000
14000 -

12000

8000
6000
4000 -

2000
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Pie Chart

labels = ['one', '"two', 'three']
size = [1e6, 20, 10|

plt.pie(size, labels=1labels)
plt.show()

Python v

Out[-]

three

labels = ['one', "two', 'three']
size = [100, 20, 10]

plt.pie(size, labels=labels, shadow=True) # 12X} |
plt.show()

Python v

Out[-]

three

73



labels = ['one', 'two', 'three']
size = [50, 20, 30]

plt.pie(size, labels = labels, shadow = True, autopct = '%1.2f%%') # A= Hl= F=ItolJ|
plt.show()

Python v

Out[-]

74



Bar Chart

« HENRFO| 2RE MBI,

plt.bar(['one', 'two', 'three'], [10, 20, 38])

plt.show()
Qut[-]

m-

5.

20

15

10
5
0.

plt.barh(['one', 'two', 'three'], [10, 20, 30]) # JIZ&3F )X
plt.show()

Out[-]

Python v

Python v
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My T AEHY

Al

o
Mo

AlZ M : https://matplotlib.org/3.2.1/api/pyplot summary.html

OH

M : https://matplotlib.org/3.2.1/api/_as gen/matplotlib.pyplot.plot.html

plt.plot(x, y, color="red") -> red, green, blue & & O|&
plt.plot(x, y, color="r") -> r, g, b, y, m(At=), k(AT) & M4 O|E
plt.plot(x, y, color='0.2") -> 3|4 7 (0-1ALO| £f)

plt.plot(x, y, color="#ff0000') -> 167 A& Zf

plt.plot(x, y, linestyle='solid") -> &4 ('-")
plt.plot(x, y, linestyle='dashed") -> L{4('--"
plt.plot(x, y, linestyle="dashdot’) -> 17 2 (-.)

plt.plot(x, y, linestyle='dotted") -> &4 ("")
plt.plot(x, y, '--r') -> HZHAH THM

"' point marker

‘0’ circle marker(plt.plot(x, y_, '-0")
‘A triangle_up marker

's' square marker

'p' pentagon marker

** star marker

‘+' plus marker

'x' x marker
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o OIHEME[EDH 2T E O2[7[0 Meret Ij7| X

o 2 AlZl0l Kb~ A2 E 0| 2lo|=2i2| D3Z 0|2 D=7t HoA e A Qe Al

o A Z|O|X|(https://plotly.com/python/) FE2| &

Line Plot

import plotly.express as px

x_ = np.array([1, 2, 3, 4, 5])
y_ = X_ Kk 2
fig = px.line(x=x_, y=y_)
fig.show()
Python v
Qutl[-]

25

20
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import plotly.express as px
import plotly.graph_objects as go

# gapminder GIOIEl 4! AZ5tD|
korea_life = px.data.gapminder().query("country == 'Korea, Rep.'") # &t
fig = px.line(korea_life, x="year", y="lifeExp", title='Life expectancy in Korea')

20 | 49

=

fig.show()
Python v

Out[-]

Life expectancy in Korea

80

lifeExp

year
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korea_ life["year"]
korea_life["lifeExp"]

OQut|[-]
840
841
842
843
844
845
846
847
848
849
850
851

47.
52.
55.
57.
62.
64.
67.
69.
720
74.
77
78.
Name: lifeExp, dtype: float64

453
681
292
716
612
766
123
810
244
647
045
623

Python v

Python v
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Bar Chart

# 8= GDP HIOIH A

korea_gdp = px.data.gapminder().query("country == 'Korea, Rep.'")

fig = px.bar(korea_gdp, x='year', y='gdpPercap', title = "8 =2l GDP")
fig.show()

Out[-]
=0l GDP
20k
o 15k
g 10k
sk II
N L1 [ | . I
950 1960 1970 1980 1990 2000
year
Scatter Plot

# 8= JI0 = GDPY At

korea_data = px.data.gapminder().query("country == 'Korea, Rep.'")
fig = px.scatter(korea_data, x = 'gdpPercap', y = 'lifeExp")
fig.show()

Out[-]

lifeExp

L] sk 10k 15k 20k

gdpPercap

Python v

Python v
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Pie Chart

fig = px.pie(values = [20, 30, 50])

fig.show()
Python v
Qut[-]
labels = ['one', 'two', 'three']
values = [20, 30, 50]
fig =go.Figure(data = [go.Pie(values = values, labels = labels)]) # "l FIt5t7|
fig.show()
Python v
Out[-]

W three
W two
W one
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o|O| x| £

O|0|X| & Zt2 AtZtS D ofo| Ao

o =z
O[O|X] A7[= (MZHAFX7I2 H A4 2 HEHBICL
B

O[OIX|E ML W= ME HO=
d,

skimage(scikit-image) : O| 0| X| X 2| & /ot THO|4M 20| =2 2{2|O|Ct, numpy array = S2FSHCE

PIL(Python Image Library)
e Pillow: O|O|X| M2|et A2iE 7|5& MSote THO|M 2t0| = 2{2[ O] T,

(CIO| 4} PILS X|YIBHX| &1 1 & T2 HE Q| pillowE AFHRSH}

cv2 : OpenCVE Open Source Computer Vision Library2| QA2 @ EA4A HAFH H|H 9
Mil2ld 2t0[22{2|0[CL O] 2t0|E 22| £ 2 U= cv2E AHETICL

import numpy as np

from skimage import io

# from PIL import Image

# from cv2

import matplotlib.pyplot as plt

Python v

jeju = io.imread('jeju.jpg') # OI0|X EH 27|
Python v
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type(jeju) # OI0IX| EtY =t0IE}D]

=

Out[-]
imageio.core.util.Array

jeju.shape

Out[-]
(960, 1280, 3) # NHIZ, JI=, RGB(HM)

jeju

Python v

Python v

Python v

Python v

Python v
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Out[-]

Array([[[171,
[172,
[172,

L
[124,
[121,
[120,

[[173,
[173,
[173,
o
[124,
[122,
[121,

([ 29,
[ 44,
[ 84,

222,
223,
223,

189,
189,
188,

224,
224,
224,

189,
190,
189,

71,
50,
52,

67,
19,
41,

58,
71,
110,

a4,
60,
43,

2517,
252],
2527,

2557,
2547,
25377,

2537,
2537,
2537,

2557,
2557,
25477,

4],
el,
el,

22],
el,
e]l,

el,
2],
371,

1],
17],
1]]1], dtype=uint8)

Python v
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np.min(jeju), np.max(jeju)

Python
Out[-]
(@, 255)

Python
plt.imshow(jeju)

Python

Outl[-]

plt.imshow(jeju[::-1]) # &ot2 FHED|

Python

Out[-]

é) 260 460 660 NEO 10'00 12‘00
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plt.imshow(jeju[:, ::-1]) # HRE F&I|
Python v

Out[-]

plt.imshow(jeju[::-1, :])

Python v

Out[-]
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plt.imshow(jeju[550:800, :]) # S=0t ZctLiD|

Python
Out][-]
0 200 400 600 800 1000 1200
plt.imshow(jeju[550:800, 500:720])
Python
Out[-]
plt.imshow(jeju[::3, ::3]) # 32tA AHYH F |
Python

Out[-]
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plt.imshow(jeju[::6, ::6]) # 62t 2l FOI| : &0 WM& AE 2

1>
30
o

Python v

Out[-]

0 25 50 75 100 125 150 175 200

plt.imshow(jeju[::10, ::10]) # 102t% A4 FI| : &0 0| MHA

Python v

out[-]
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miniJeju = jeju 10 10

# M JEE 2= LIEdtD HO

plt.hist(miniJeju.ravel 256

plt.show

Out[-]
2000
1750
1500
1250
1000
750
500
250
0

# SHs gt(50)= XN&Est2 1 0l

# 0|0 XIE &&StC

miniJeju_ = np.where(miniJeju <

plt.imshow(miniJeju_

Out[-]

50, miniJeju

0

R0l 2 A= NS Holsh

0, 256

0 50 100 150 200 250
e ool Moz e [He 2

[

A
(=]

A Al
(=]

(@)

o
o

=)
s =

X &5t

Python

Python

Python



plt.imshow(jeju[:, :, ©]) # oW 240t ==245})|

Python v

Out[-]

plt.imshow(jejul[:, :, 1]) # 1M 240t ==245})|

Python v

Out[-]
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plt.imshow(jejul[:, :, 2]) # 2B} A0t =5})|

Python v
Out[-]
0
jejul:, :, @] # 0V M AL ==
Python v
Out[-]
Accay (17458172 35172 Sc 8 124 121 8 1201
[ 17351735 173 S 19 AR 12 25 12 14] 5
1745517455 175 s eia 125 812 258 122]5
I &5, &L 28 cocs 250 34 30549,
[F44 23 09 B 40, O 161
[ 29, 44, 84, ..., 17, 33, 18]], dtype=uint8)
Python v
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jejul:,

OQut|[-]

1]

Array([[[171,
(172,
[172,

“ey

[124,
[121,
[120,

[[173,
[173,
[173,

“ey

[124,
[122,
[121,

29,
44,
84,

17,
33,
18,

222,
223,
223,

189,
189,
188,

224,
224,
224,

189,
190,
189,

71,
50,
52,

67,
19,
41,

58,
71,
110,

a4,
60,
43,

2517,
2527,
2527,

2557,
2547,
25371,

2537,
2537,
2537,

2557,
2557,
25477,

4],
el,
el,

22],
el,
ell,

el,
2],
371,

1],
177,
1]]1], dtype=uint8)

Python v

Python v
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# S|M2Z 0|0|XI &5t
from skimage import color

plt.imshow(color.rgb2gray(jeju), cmap=plt.cm.gray)

Python v

Out[-]
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4. Crawling

&0l BoM CHR= LHE

Crawling

URL

HTTP
requests
BeautifulSoup

ey

=L

94



Crawling
o Ho[X|off =M HEE M= abdE TR ™S SO ZO0r =Tt Jok= HEjo| &A 7t
St B E Iy,

o AO|E2| 2 A2l A0 BHSHR| QOB SO T 1YK| Yo B
Eag 3

e ALO|E C|HE2|9| robots.txtIt LS &
(Disallow2l= HA| Yo JE2SIH 2 E
o WHOIR| £AF Y Z2IHY 84k NYEE QY + Y02 2 =21= MY M
of 3.
2o x|
e (Z =) pip3 install BeautifulSoup4 or pip3 install bs4
e (Z=) pip3 install requests
) pip3 install pandas
) pip3 install plotly

=
e (MEH) pip3 install Ixml

gto| 22| x| (&2 X =0 ACHE 71 5
e Ipip3 install requests

e Ipip3 install beautifulsoup4

95



Ipip3 install requests

Python v
Ipip3 install beautifulsoup4
Python v
# mac , Linux
I1s
# window
Idir
Python v
Out[-]
C Ecet0IE9 E&0= 0501 SASLICE.
=8 ¢&¢ HS: CC5E-6766
C:\Users\leehojun\Google =CI0IE\11_1. 2H= SF 4 ZS\ee7. A EZ 2 CIEHZ
2020-04-03 13:16 <DIR>
2020-04-03 13:16 <DIR> 50
2020-64-083 13:10 <DIR> .ipynb_checkpoints
2020-04-03 12:18 391,939 ©01.ipynb
2020-04-03 01:58 <DIR> F=SanpNI=]
2020-04-083 13:16 999 zEFEHYTE_AEH .ipynb
204 Ore 392,938 HIOIE
44 CI&H el 13,425,782,784 HIOIE ©3
Python v
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URL (Uniform Resource Locator)
XHRI0| OfC| Y=X|S YaiF7| QB 7o

25 & AO|E A2 210 AUX|2H URLZ & AO|E FA# T OfL 2t AFE HERI L2 X}
_?,_]9 = |_|_E|.LH A 0Olo
2= M

O 320 502 H oS URLY = Z2EZS FOI0F ot O S Z2EZE FF
(FTP Z2EZQ B0 = FTP 22t0|AEZ 0| 830F ot 11, HTTPRl B2 0= & B2t ME O
Safjor etct Ao 0= BYl Z= 08 E O|83M )

=M Wiki

HTTP(Hypertext Transger Protocol)
e HTML, XML, Javascript, 2 |2, H[C| 2, O|O|X|, PDF, Etc
o 98 i MEf 2Ol / SHE(METHS) / BIZEIE 2 B) / BT (A E7ts)
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HTTP request ex 1

GET /stock.html HTTP/1.1
Host www.paullab.co.kr

HTTP request ex 2

GET /index.html HTTP/1.1

user-agent: MSIE 6.0; Windows NT 5.0
accept: text/html; */*

cookie: name = value

referer: http://www.naver.com

host: www.paullab.co.kr

1. CIOIEf M2| &4, 7|2 HOo[X], Z2EZ B

2. User-Agent: AtEAL 2 Het X 57 Ol HE HE.

3. Accept: 8l NHEZRE| 415 Hlo|E 5 & 2t

0] 7| M text/html2 text, html FE{ 2| EAE HE[E

2|0, (O] 2 MIME Et&0j2t 27| ptCt)

4. Cookie: HTTP ZE2E = XA 7} M2 SX|SHA| &
07| {20 21921 215 S Qot ArR2AL HEE 7
C

6. Host: AFEAZL 2 8ot EHQIEE

EHE = AISHA|
C—’WEW_ 2t= 219

=
Hol 21901 213 HEE 7HX| 10 QUCH= A2 ECHSE IR ALE.

5. Referer: 1A I|O[X| ©& MO {- AIO|EE E&

d

Plain Text v

Plain Text v
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HTTP Response ex 1

HTTP/1.1 200 OK ## ofEHctel
Content-Type: application/xhtml+xml; charset=utf-8 ## ol
#t Bl=
<html> ## BtCl
</html>
HTTP Response ex 2

oA~ wen

HTTP/1.1 OK 200

Server: NCSA/1.4.2
Content-type: text/html
Content-length: 167

<html>
</html>
HEREZ UM A Y IE EHEUF Y

HOfES|A O S5 U B EJF gt
MIME Et®! "7t 223t
4! Body AFO|= HE 7} 23k

AFEARZE /gt @ HO[X| §E27 =g

Plain Text v

Plain Text v
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2% 452 - Python &€8M

HTTP X 2[4

o GET:Z2[aA FHS (2 7O O[O 20| HAl - &2 ¢f5)

e POST: 2[4 Md (Bodyll 20| B4l - HIHAHCE 2 &)
o PUT:E|AA SN QN

o DELETE: 2| AF| 2F

e HEAD:HTTP3|H EED 9F, T ALY =X O£ =40l =5
e OPTIONS: &MH{7} X| {ot= AL Z7F dtet F

e TRACE: 84 2|AAT} AT = HE 50l

* CONNECT: R 2|20 sl fdter HA A%}

HE| 2 E
e 200: MHIZt REE MU= M|

o 201:dBHCE QNECD MB{7t M 2|A~AE A,

o 202: MH7ZI RS HUAITHOLE ME[SHA| B 2.

e 301: 2HTHIO[X|E M ?(X|2 ETFE2Z 0|5,

o 403: MH7I 2FE HE.

o 404: MH7ZI 2o HO[X| £ &2 = 83,

o 500: MHO| LF 7 L5 @S =AW £ 8ls.

o 503: MH{7I QHZER|JAALE FXA[AEZ|E 26 CH2EIQU7| IO XM H AHE =71
=X WIKI
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import requests

import bs4

requests. version__ # requests HH& =0l

Out[-]
'2.22.0°

bs4. version__ # bs4 H& Ol

Out[-]
‘4.7.1"

from datetime import datetime

datetime.now() # & Al2F £

Out[-]

datetime.datetime(2020, 4, 3, 13, 36, 59, 789815)

Python

Python

Python

Python

Python

Python

Python
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requets

BLf=0 AFESH= 20|28 2
text: strEF 2| HIO|E{ £ return
headers : header(key/value Z Hole MEhHel W]

o|33C| HIAl &

.,_

status_code : HTTP 80| CHsiA 80| 45

ok:HOHE & 28{21 A=A =2

=]
3¢
rr
ot
rlo
2

import requests

html = requests.get('http://www.paullab.co.kr/stock.html")

<Response [200]> # AHJI RAS HUZ Hl



html.text # &= MAl= &0 2

Python v
Out[-]
'<IDOCTYPE html>\n<html lang="en">\n\n<head>\n
<meta charset="UTF-8">\n
<meta name="viewport" content="width=device-width, initial-scale=1.0">\n
<meta http-equiv="X-UA-Compatible"” content="ie=edge">\n
<title>Document</title>\n <link rel="stylesheet”
href="https://stackpath.bootstrapcdn.com/bootstrap/4.4.1/css/bootstrap.min.css">\n
<style>\n h1{\n margin: 2rem;\n F\n
hi>span{\n font-size: 1rem;\n \n
.main {\n width: 70%;\n margin: 3rem auto auto auto;\n
text-align: center\n F\n\n table {\n width: 100%;\n \n
</style>\n</head>\n\n<body>\n
<h1>1\x81-&;HEé§\x81 1\x97°1\x8api\x9a® i\x8e\x98i\x9d 1§\x80
<td class="num"><span>139,085</span></td>\n
</tr>\n
</tbody>\n
</table>\n </div>\n</body>\n\n</html>\n"

Python v
html.headers

Python v
Out[-]

{'Server': 'nginx', 'Date': 'Sat, 04 Apr 2020 11:13:06 GMT',

'Content-Type': 'text/html', 'Transfer-Encoding': 'chunked’,

'Connection': 'keep-alive', 'Vary': 'Accept-Encoding’,

"P3P': "CP='NOI CURa ADMa DEVa TAIa OUR DELa BUS IND PHY ONL UNI COM NAV INT DEM PRE'",
'X-Powered-By': 'PHP/5.5.17pl', 'Content-Encoding': 'gzip'}

Python v
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dir(html)

Out[-]

[* _attrs_ ',
' bool ',
'_class_ ',
'__delattr_ ',

' dict_',

‘ok',

'raise_for status',
‘raw’,

‘reason’,
'request’,
'status_code’,
"text',

‘url']

#ASCII J|Eto| =&
html.encoding

e
kU
00
ot

Out[-]
'IS0-8859-1"

Python v

Python v

Python v

Python v
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html.encoding = 'utf-8' #

o
[N
T
Ju

Python v

html . text
Python v

Out[-]

'<IDOCTYPE html>\n<html lang="en">\n\n<head>\n

<meta charset="UTF-8">\n <meta name="viewport"
content="width=device-width, initial-scale=1.0">\n

<meta http-equiv="X-UA-Compatible" content="ie=edge">\n
<title>Document</title>\n <link rel="stylesheet" href=
"https://stackpath.bootstrapcdn.com/bootstrap/4.4.1/css/bootstrap.min.css">
\n <style>\n h1{\n margin: 2rem;\n H\n

hl>span{\n font-size: 1rem;\n \n .main {\n width: 70%;\n
margin: 3rem auto auto auto;\n text-align: center\n F\n\n

table {\n width: 100%;\n \n </style>\n</head>\n\n<body>\n
<h1>3AEE HSS HOIX

<td class="num"><span>139,0885</span></td>\n
</tr>\n

</tbody>\n

</table>\n </div>\n</body>\n\n</html>\n"

Python v
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html.status_code

Out[-]
200 # 200 : §3%Ct= 20|

html.ok

Out[-]
True

Python v

Python v

Python v

Python v
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GET ¥4l 2 parameter HEdl= 2y

<html>
<head>
</head>
<body>
<form action="test.html" method="GET">
<input type="text" name="user_id">
<input type="password" name="user_pw">
<input type="submit" name="submit">
</form>
</body>
</html>

params = {'pal': 'vall', 'pa2': 'value2'}
response = requests.get('http://www.paullab.co.kr', params=params)

response.url

Out[-]
"http://www.paullab.co.kr/?pal=vall&pa2=value2"’

Plain Text v

Python v

Python v

Python v
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POST 28 [ data ME'H

import requests, json

data = {'pal’': 'vall', 'pa2': 'value2'}
response = requests.post('http://www.paullab.co.kr', data=json.dumps(data))

Python v
sl =7t, 37| =7t

headers = {'Content-Type': 'application/json; charset=utf-8'}
cookies = {'session_id': 'sorryidontcare'}

response = requests.get( http://www.paullab.co.kr’, headers=headers, cookies=cookies)

Python v
=x
ASF7t
response = requests.post('http://www.paullab.co.kr', auth=("id","pass"))
Python v
E |
requestsE 0| &%t I ET
import requests
from bs4 import BeautifulSoup
response = requests.get('http://www.paullab.co.kr/stock.html")
response.encoding = 'utf-8°
html = response.text
soup = BeautifulSoup(html, 'html.parser') # &ol= SXNEE Zot=S
Python v
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print(soup.prettify()) # html EAE A

Qut[-]
<!DOCTYPE html>
<html lang="en">
<head>
<meta charset="utf-8"/>

<meta content="width=device-width, initial-scale=1.0" name="viewport"/>
<meta content="ie=edge" http-equiv="X-UA-Compatible"/>

<title>
Document
</title>

<td class="num">
<span>
139,085
</span>
</td>
</tr>
</tbody>
</table>
</div>
</body>
</html>

Python v

Python v
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E™ Oo|x|el 2AAFEE Gt Z XME

import requests
from bs4 import BeautifulSoup

response = requests.get('http://www.paullab.co.kr/stock.html")
response.encoding = 'utf-8'

html = response.text

#url ZEE U= H&E

f = open('test.html', 'w', encoding="utf-8")

f.write(html)

f.close()
Python v
ldir
Python v
Out[-]
C Ect0IES E80HE 0180 §ASLICH
=8 2& BHS: CC5E-6766
C:\Users\leehojun\Google E2i0|E\11_1. 2EHI= SZ4& ZWYS\ee7. A= 29 CIEH2
2020-04-03 13:55 <DIR>
2020-04-03 13:55 <DIR> oo
2020-04-03 13:10 <DIR> .ipynb_checkpoints
2020-04-03 13:50 392,338 001.ipynb
2020-04-03 13:55 48,527 test.html # test.htmlO| MAHE == =0l
2020-04-03 01:58 <DIR> PN =
2020-04-03 13:54 221,527 ZELQNZ_IE2E .ipynb
304 Ohe 662,392 HIOIE
44 Cl&E 2l 13,301,800,960 HIOIE &3
Python v
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#url DILUHAMN SEHH &I
s = html.split(' ') # S AT
word = input('HIOIXIOIAN ZAHE

(=R —1

s.count(word)

Out[-]
HOIXIOAM ZME HAHE

(%]

&
c

=

F

(=]
%

0

LHEA L -

My Hu

")

Python v

Python v

111



BeautifulSoup

strEF 2| html H[O|EE html T2 71T HIO|H 2 71533 = 20| 222
BeautifulSoup(markup, "html.parser”)

BeautifulSoup(markup, "Ixml")

BeautifulSoup(markup, "Ixml-xml") BeautifulSoup(markup, “xml")

BeautifulSoup(markup, "html5lib")

import requests
from bs4 import BeautifulSoup

response = requests.get( http://www.paullab.co.kr/stock.html")

response.encoding = 'utf-8°
html = response.text

soup = BeautifulSoup(html, 'html.parser')

Python v
soup.title # title B EZ

Python v
Out[-]
<title>Document</title>

Python v
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soup.title.string # titleBH 0N SAEC =

Out[-]
‘Document’

soup.title.text # String 22 JIs

Out[-]
'Document’

soup.title.parent.name # £2 Ei7]

Out[-]
"head"

Python v

Python

Python v

Python v

Python

Python v
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soup.tr # table row

Python v
Out[-]
<lsig>
<th scope="col">ZM</th>
<th scope="col">Z&Jt</th>
<th scope="col">™ & H|</th>
<th scope="col">AlJt</th>
<th scope="col">1J}</th>
<th scope="col">XJt</th>
<th scope="col">HeHf&</th>
</tr>

Python v
soup.td # table data

Python v
Out[-]
<td align="center "><span class="date">2019.10.23</span></td>

Python v
soup.th # table header cell

Python v
Out[-]
<th scope="col"><M</th>

Python v

114



soup.table

Python v
Out([-]
<table class="table table-hover">
<tbody>
<tr>
<th scope="col">YM</th>
<th scope="col">&Jl</th>
<th scope="col">&&H|</th>
<th scope="col">A|Jl</th>
<th scope="col">1Jt</th>
<th scope="col">XJt</th>
<th scope="col">HceH&</th>
</tr>
<tr>
<td align="center "><span class="date">2019.10.23</span></td>
<td class="num"><span>6,650</span></td>
</td>
<td class="num"><span>5,300</span></td>
<td class="num"><span>5,3708</span></td>
<td class="num"><span>5,2808</span></td>
<td class="num"><span>211,019</span></td>
</tr>
</tbody>
</table>
Python v
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soup.find('title') # find() :

Out[-]
<title>Document</title>

soup.find('tr")

Out[-]

<tr>

<th scope="col">ZM</th>
<th scope="col">ZJt</th>
<th scope="col">&&H|</th>
<th scope="col">AlJt</th>
<th scope="col">1J}</th>
<th scope="col">MIt</th>
<th scope="col">HeH&</th>
</tr>

soup.find('th")

Qut[-]

<th

scope="col">&M</th>

Python v

Python v

Python v

Python

Python v

Python v
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soup.find(id=("update')).text # S& id°l text &

Out[-]
‘update : 20.12.30°

soup.find('head').find('title') # head Q0 title &%

Out([-]
<title>Document</title>

soup.find('h2', id="HIF2EHO|AZIHAZR")
# h22| 'idJt MF=ZEHIOILABITALEAE EF

Out[-]

<h2 id="NFzDEHOIABZAZEH" >HNFDEHO0IAHE ALR</h2>

Python v

Python

Python v

Python

Python v

Python v
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soup.find all('h2') # find_all() :

Out[-]

[<h2 id="HIFD2EH O AHIHAAR">H=ZLH 0l A
Iﬂn—iiélmlob*

SHEZE 0
"SHF=DYH0IAA

<h2 id="HIF=ZYH 0| L BHEIZSE"
<h2 id="HI=ZEH oI AHEZE
<h2 id="HIF=DYH 0| LBZS

|tI|H

ok A
ZHEA
=)
&

soup.find _all('h2')[0]

Out[-]

<h2 id="HFZLHIOIAB AR >HFZEH0A

fn
mjn
o
1]

18

I HAF2A</h2>

Python v

Python v

Python v

Python v
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soup.find_all('table', class_='table') # class_ : OI=(f
# 02N : SFHE JIsS =8ot==E 0icl o= A=A

Python v

Out[-]

[<table class="table table-hover">

<tbody>

<tr>

<th scope="col">YM</th>

<th scope="col">Z&Jt</th>

<th scope="col">™&H[</th>

<th scope="col">AlJi</th>

<th scope="col">1Ji</th>

<th scope="col">XJt</th>

<th scope="col">HeH&</th>

</tr>

<tr>

<td align="center "><span class="date">2019.10.23</span></td>
<td class="num"><span>6,658</span></td>

</td>

<td class="num"><span>2,0208</span></td>

<td class="num"><span>2,090</span></td>

<td class="num"><span>2,020</span></td>

<td class="num"><span>139,0885</span></td>

</tr>

</tbody>

</table>]

Python v
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soup = BeautifulSoup(

<hojun id='jeju' class='codingBaseCamp codinglevelUp'>
hello world

</hojun>

)

# tag = hojun , id = "jeju' , class = 'codingBaseCamp codinglevelUp

tag = soup.hojun
tag
Python v

Out[-]

<hojun class="codingBaseCamp codinglevelUp" id="jeju">
hello world

</hojun>

Python v

type(tag)
Python v

Out|[ -]
bs4.element.Tag
Python v
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dir(tag) # tagll method

Python

Out[-]

[ "HTML_FORMATTERS ",
'XML_FORMATTERS ',
' _bool ‘',
' call ',
'_class__ "',

' _contains__ ',

‘_copy_ ',
' delattr_ ',

‘setup’,

‘string’,
'strings’,
'stripped_strings’,
"text',

‘unwrap ',

‘wrap ']

Python v

tag.name

Python v

Out[-]
"hojun’

Python v
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tag['class']

Python v
Out|[-]
[ 'codingBaseCamp', 'codinglevelUp']

Python v
tag['id']

Python v
Out[-]
"jeju’

Python v
tag.attrs # ZEE SN ENASM AE

Python v
Out[-]
{'id': "jeju', 'class': ['codingBaseCamp', ‘codinglLevelUp']}

Python v
tag.string # 24 ==

Python v
Out|[-]
‘\n hello world\n'

Python v
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tag.text # 2AE =

Out[-]
"\n hello world\n'

tag.contents # list® =

Qut[-]
['\n hello world\n']

for i in tag.children: # children : &= E{1
print(i)

Qut[-]
hello world

tag.children

Out[-]
<list _iterator at 6x1cd52f37550>

Python

Python

Python

Python

Python

Python

Python

Python
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soup = BeautifulSoup('"’
<ul>
<1i id="jeju' class='codingBaseCamp codinglevelUp'>hello world</1li>

<1i id='jeju' class='codingBaseCamp codinglLevelUp'>hello world</1li>
<1i id="jeju' class='codingBaseCamp codinglevelUp'>hello world</1li>
</ul>

III)
tag = soup.ul
tag

Python v

Out|[-]

<ul>

<1i class="codingBaseCamp codinglevelUp" id="jeju">hello world</li>
<1i class="codingBaseCamp codinglevelUp" id="jeju">hello world</li>
<1i class="codingBaseCamp codinglevelUp"” id="jeju">hello world</li>
</ul>

Python v

tag.contents # list
Python v

Out[-]
["\n",
<1i class="codingBaseCamp codinglevelUp"” id="jeju">hello world</1li>,
‘\n',
<1i class="codingBaseCamp codinglevelUp” id="jeju">hello world</1li>,
‘\n',
<1i class="codingBaseCamp codinglevelUp"” id="jeju">hello world</1li>,
"\n']
Python
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tag.li # 1i B &

Out[-]
<1i class="codingBaseCamp codinglevelUp"” id="jeju">hello world</1li>

tag.li.parent # 1i B2 22 B ==

Out[-]

<ul>

<1i class="codingBaseCamp codinglLevelUp" id="jeju">hello world</1li>
<1i class="codingBaseCamp codinglLevelUp" id="jeju">hello world</li>
<1i class="codingBaseCamp codinglevelUp" id="jeju">hello world</1li>
</ul>

Python v

Python v

Python v

Python v
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Selector
e EfTI0| & 4 MYt H0| 7ts

e classE XA I

=
rr
o
>
oo
OF
LK
i
Rl
ot
ot
=
rr
#
i
>
ofo

import requests
from bs4 import BeautifulSoup

response = requests.get('http://www.paullab.co.kr/stock.html")

response.encoding = 'utf-8'
html = response.text

soup = BeautifulSoup(html, 'html.parser')

Python
soup.select('#update’)

Python
Out[-]
[<span id="update">update : 20.12.30</span>]

Python v
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soup.select('.table > tr') # 'table' class 2t} 2 tr B0 EE
# =AM : table > tbody > tr (HZ OtcH OrLIH AIEHOHE)

Python v

Out[-]
[1
Python v

soup.select('.table > tbody > tr')[2] # 'table' class 2t0i| tbody 2t Z2E tr Ef1l ==

Python v
Out[-]
<tr>
<td align="center"><span class="date">2019.10.22</span></td>
<td class="num"><span>6,630</span></td>
<td class="num">
<img alt="0Ol=" height="6" src="ico_down.gif" style="margin-right:4px;" width="7"/>
<span class="tah p11 nve1">
190
</span>
</td>
<td class="num"><span>6,830</span></td>
<td class="num"><span>6,930</span></td>
<td class="num"><span>6,530</span></td>
<td class="num"><span>919,571</span></td>
</tr>
Python v
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# 24 HE wH

soup.select("p > a:nth-of-type(2)") # p > a tag 204l 2B 24
soup.select("p > a:nth-child(even)") # p > a tag 210 ZE=L} =
soup.select('alhref]') # S& attribute 24

soup.select("#1linkl + .sister") # id2 classE SAI0 JI& 24

=N 224

Python v
oneStep = soup.select('.main')[0] # HFZEHO|AHI HR
oneStep
Python
Qut[-]
<div class="main">
<h2 id="N=ZEH O ABZAIZRA"SHF=DLHO|AZZ HAFZRA</h2>
<h3><span style="color: salmon">2</span> AlAI</h3>
<table class="table table-hover">
<tbody>
<tr>
<th scope="col">YEM</th>
<th scope="col">ZJt</th>
<th scope="col">&2H|</th>
<th scope="col">AlJt</th>
<th scope="col">1Jt</th>
<th scope="col">MJt</th>
<th scope="col">Hel &< /th>
</tr>
<td class="num"><span>5,300</span></td>
<td class="num"><span>5,370</span></td>
<td class="num"><span>5,280</span></td>
<td class="num"><span>211,019</span></td>
</tr>
</tbody>
</table>
</div>
Python v
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twoStep = oneStep.select('tbhody > tr')[1:]
twoStep

Out[-]
<tr>
<td align="center "><span class="date">2019.10.23</span></td>
<td class="num"><span>6,650</span></td>
<td class="num">
<img alt="&Z= " height="6 " src="ico_up.gif " style="margin-right:4px;

<span>
20
</span>
10
</span>
</td>

<td class="num"><span>5,300</span></td>
<td class="num"><span>5,370</span></td>
<td class="num"><span>5,288</span></td>
<td class="num"><span>211,019</span></td>
</tr>]

twoStep[0@].select('td')[@].text # =t

Out[-]
'2019.10.23"

Python v

width="7 "/>

Python v

Python v

Python
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twoStep[@].select('td')[1].text # =}

Out|[ -]

'6650"  # ESAS0IDIMES0 2reF A& OIE0HH B0OE =ANE22 HHRF 0.

# twoStep[@].select('td')[1].text.replace(',"', '")

2 =[]
It =[]

for i in twoStep:
= .append(i.select('td")[@].text)
Zt.append(int(i.select('td')[1].text.replace(',"', "')))

Python v

Python v

Python v
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Out[-]
['2019.10.
'2019.10.
'2019.160.
'2019.160.
'2019.10.
'2019.160.
'2019.160.
'2019.160.
'2019.10.
'2019.160.
'2019.160.
'2019.10.
'2019.160.
'2019.160.
'2019.160.
'2019.09.
'2019.09.
'2019.09.
'2019.09.
'2019.09.

2710

i7"

30",

237,
24" ]

Python v

Python v
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St

Out[-]
(6650,
6630,
6820,
6430,
5950,
5930,
5640,
5380,
5040,
5100,
5050,
4940,
5010,
4920,
5010,
5000,
5010,
5060,
5060,
5330]
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2to|22{2| A (7= LX|=|0ACt= 71 St

e Ipip3 install requests
e Ipip3 install beautifulsoup4

e JE=2! URL: http://www.paullab.co.kr/stock.html

2 BIAPE 195 SICHD PR R )

o JdEA:[MFZEHO|AHE HH
M= GHO| A St

import requests
from bs4 import BeautifulSoup
response = requests.get("http://www.paullab.co.kr/stock.html")

response.encoding = ‘utf-8'
html = response.text

soup = BeautifulSoup(html, ‘html.parser')

Python v
soup.select('.main")[@] # HFZYH|O[AHZ HIZHA
soup.select('.main')[1] # HI=2EHI0|AHZ ZH
soup.select('.main')[2] # MIFD2EHO|AI ZEHAL
soup.select('.main")[3] # H==ZEHI0|AZE &3
Python v
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soup.select('.main')[0] # HI=ZEHIO| A2
soup.select('.main')[1] # H=ZEHIO|A 2
soup.select('.main')[2] # HFZLHI0lA2H
soup.select('.main')[3] # HI=ZEHI0|A 2

(==l ==
Jo e 0p R

e e

Out[-]
<div class="main">

{0

=

<h2 id="NFDEHOIAB IS A">H=DYHO|AZBEIE StR</h2>
<h3><span style="color: salmon">2%</span> AlAl</h3>

<table class="table table-hover">
<tbody>

<tr>

<th scope="col">YM</th>
<th scope="col">&Ji</th>
<th scope="col">®™ 2H|</th>
<th scope="col">AlJt</th>
<th scope="col">1Ji</th>
<th scope="col">MJt</th>
<th scope="col">Hell &< /th>
</tr>

<td class="num"><span>2,020</span></td>
<td class="num"><span>2,090</span></td>
<td class="num"><span>2,020</span></td>
<td class="num"><span>139,085</span></td>
</tr>

</tbody>

</table>

</div>



DS AELLAIIL = soup.select('.main')
=30t = []
LSAINEY =[]

[=-Nelje]]
=22

for i in JEAt A Dt
print(i.select('.table > tbody > tr')[1].
print(i.select('.table > tbody > tr')[1].

print(i.select('.table > tbody > tr')[1].

select('td")[1])
select('td")[1].text)
select('td")[1].text.replace(',', "'))

Out[-]

<td class="num"><span>6,650</span></td> # 10.23%, H=IZEHOABZ HAFARH, It
6,650

6650

<td class="num"><span>31,300</span></td> # 10.232, HF=DYHIO|AHZ 2, I}
31,300

31300

<td class="num"><span>13,250</span></td> # 10.232, HZ=TUH O ABZ ZEA, It
13,250

13250

<td class="num"><span>2,68@</span></td> # 10.232, NFTIEH0|AHIZT &I, =t
2,600

2600

Python v
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JEMELLAIIL = soup.select('.main")
]

for i in JEANEL LAt

=3 Jt.append(int(i.select('.table > tbody > tr')[1].select('td')[1].
select('td > span')[@].text.replace(',"', "')))

print(2=ZJt)

Qut[-]
[6650, 31300, 13250, 2600]

QEANIEY = [i*10000 for i in =35I}
HIOEMAIIIZEH = format(sum(2=AIIIE), ')
HIOEAAIIIES N

=

Qut[-]
538,000,000

Python v
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=X 2iH

HABAAIZFEY 2012 J2j =2 1oFAR. =S YR, y52 7}

ih
2
r
Il

# Z2OEAS LA AIIFSHE F&

OEAMELLAIIL = soup.select( .main’)
=8t = []

LEAMIIEH =[]

for 1 in JEAMELLAID}L:
L=ZJt.append(int(i.select('.table > tbody > tr')[1].select('td')[1].
select('td > span')[@].text.replace(',", "")))

Python v

JEMELLAIIL = soup.select(’.main')
1

QEANENH =[]
for j in range(1l, len(soup.select('.main')[@].select('table > tbody > tr'))):
2SI =[]
for i in JEAIEL L AIDL:
2=ZJt.append(int(i.select('.table > tbody > tr')[j].select('td")[1].
select('td > span')[@].text.replace(',’, "')))
LEANINEZNY . append(sum(2LEEIt))

Python v
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LEANIIESH

Out[-]
[53800,
53180,
53615,
52305,
49035,
48755,
46970,
46140,
45900,
45765,
44000,
43210,
43830,
44310,
44850,
44370,
43935,
44180,
44410,
46245]
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# 2N table 2EE

SMAHN = soup.select('.main')[@].select('.table > tbody > tr > td > .date')

date = []

for i in WM&EA :
date.append(i.text)

date

Out[-]
['2019.10.23",
'2019.10.22",
'2019.10.21",
'2019.10.18",
'2019.10.17",
'2019.10.16",
'2019.10.15",
'2019.10.14",
'2019.10.11",
'2019.10.10",
'2019.10.08",
'2019.10.07",
'2019.10.04",
'2019.10.02",
'2019.10.01",
'2019.09.30",
'2019.09.27",
'2019.09.26",
'2019.09.25",
'2019.09.24" ]

Python v
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%matplotlib inline
import matplotlib.pyplot as plt

plt.plot(date, 2L=AIIIENH)
plt.xticks(rotation = -45 ) # y & B J|I2)| &3
plt.show()

Out[-]

52000

44000

%matplotlib inline
# M= ZEolH WEE

import matplotlib.pyplot as plt

plt.plot(date[::-1], LEAMISH[::-1])
plt.xticks(rotation = -45 )
plt.show()

Out[-]

52000

44000

sttt e

""" Yo <o Yo Y0 Y0 Y0 Yo Yo Yo Yo Yo Yo Yo Yo Yo
R R A R R R R A
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import requests

from bs4 import BeautifulSoup
response = requests.get("http://www.paullab.co.kr/stock.html")

response.encoding = 'utf-8°
html = response.text

soup = BeautifulSoup(html, 'html.parser')

Out|[-]
[538000000,
531800000,
536150000,
523050000,
490350000,
487550000,
469700000,
461400000,
459000000,
457650000 ,
440000000,
432100000,
438300000,
443100000,
448500000,
443700000,
439350000,
441800000,
444100000,
462450000 |
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# 2 table 2 EE

M = soup.select('.main')[@].select('.table > tbody > tr > td > .date")
date = []

for i in

date.append(i.text)
date

Python v

Out|[-]
['2019.10.23",
'2019.10.22°,
'2019.10.21°,
'2019.10.18",
'2019.10.17",
'2019.10.16",
'2019.10.15",
'2019.10.14",
'2019.10.11°,
'2019.10.10°,
'2019.160.08",
'2019.10.07",
'2019.10.04",
'2019.10.02°,
'2019.10.01",
'2019.09.30°",
'2019.09.27",
'2019.09.26",
'2019.09.25",
'2019.09.24"
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# A2t
%matplotlib inline
import matplotlib.pyplot as plt

plt.plot(date[::-1], LEAIIESH[::-1])
plt.xticks(rotation = -45)
plt.show()

Out[-]

54

52

5.0

48

46

44

-@a@m&m@m@@@m
''''''''''' 07050 0050 Y0 Yo Yo Yo Yo Yo Yoo Yo
O Y O Qs G O Qg i Ly g X dp o ie 0
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2t S| AtE Ao St M OEA Helff E2F2 subplotS 2 J1HFM L.

# OO £

# ISEAMELY

a
.l

Y
&
o
I

[[EEA], [97E], [SBEAM], [2E]]

Python v

EMELLUGOIE[0].select(".table > tbody > tr')[@]
SMELLHOIE[0].select(’.table > tbody > tr')[1].select('td')[-1].text.replace(",",""

)

Python v

Out[-]
'398421"

Python v

for j in range(1, len(soup.select('.main')[0@].select('table > tbody > tr'))):

ASAELLNCHE O] .append(int(ASEAMELLHIOIE{[0].select('.table > tbody > tr')[j].

select('td')[-1].text.replace(',"', "")))

OSASELUNNE[1].append(int (DS AFE L LHI0IE[1].select('.table > tbody > tr')[j].

select('td')[-1].text.replace(',"', "")))

JDSMELLHHE 2] .append(int (O SMELLOO0IE[2].select (' .table > tbody > tr')[j].

select('td')[-1].text.replace(',"', "')))

JDEMELUNHCHE[3].append(int (O EME L LG O0IE[3].select (' .table > tbody > tr')[j].

select('td')[-1].text.replace(’,", "")))
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[elel}
==
Qlal
==
alol
==
ol Ql
=

JOE A
S A
OE A
8 A =
len(OEAMNE

JEMEYY

[=2]
=
[=Z]
=
[=Z]
=
[==]
=

Out[-]

[398421,
919571,
1678055,
2168857,
1982922,
839434,
702104,
764800,
134558,
288563,
223839,
199580,
188467,
160510,
246145,
705046,
408859,
404633,
441923,
211019]

A
A
A
A

ol

A

cHef[e] #
cHEF[1] #
cHE[2] #
CHE[3] #
EREI
chE[e]

—
~

J9 00 12
Mo 12 4 re

B
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%matplotlib inline
import matplotlib.pyplot as plt

plt.plot(date[::-1], DEAELUN
plt.plot(date[::-1], IS AtEL L]
plt.plot(date[::-1], DASAIHEU U
plt.plot(date[::-1], SAIEL )

plt.xticks(rotation = -45 )
plt.legend(loc=2)
plt.show()

Out[-]

::-1], label='A")
::-1], label="B")
::-1], label='C")
::-1], label="D")

e
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for i in range(len(AESAMEL L NS [0])):
s =0
for j in range(4):
s += JEAMELAHANE[F][1]
IEMEM LY HCHE . append(s)
OISEMEHELHNE

Out[-]
[3198301,
2051067,
3724291,
4286651,
3167249,
2477184,
1456343,
1174487,
771938,
1463947,
698527,
673095,
562816,
650582,
784490,
1239662,
872050,
868624,
1115164,
803201 ]
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%matplotlib inline
import matplotlib.pyplot as plt

plt.plot(date[::-1], JDSEAIE ML LHHE[::-1], label="ALL")
plt.xticks(rotation = -45 )

plt.legend(loc=2)

plt.show()

Out[-]

— ALL
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f = plt.figure(figsize=(10,3))

# 18 I8 (OS8AE)

ax = f.add_subplot(121)
ax.plot(date[::-1], JJSAIEY
ax.plot(date[::-1], JJEAIELY
ax.plot(date[::-1], JJEAIELY
ax.plot(date[::-1], JJSAIEY
plt.xticks(rotation = -45)
ax.legend(loc=2)

# 28 8 (&)

ax2 = f.add subplot(122)
ax2.figsize=(15,15)

ax2.plot(date[::-1], JISAMENLLHHS[::-1], label="ALL")

plt.xticks(rotation = -45)
ax2.legend(loc=2)

Out[-]

<matplotlib.legend.Legend at 0x2987b073cf8>

HeH2F[e][::-1], label='A")
Hel 2 [1][::-1], label='B')
HeW=E[2][::-1], label="C')
HeH2F[3][::-1], label='D")
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